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- Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A,
zsPart B consists of+ 5 Units: Answerzany ones: full question from each unit. - @
Each question carries 10 marks and may have a, b, c as sub questions. :

PART-A _
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1.a)  Define the concept ‘Managerial Economics’, [2]

b) How is ‘Price elasticity of demand’ measured? | 3] -

) #How is ‘Gost’ compesed? . #2]
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# 3. zThe sales-of Forma-1td. in the first half of 2014;:amounted; to Rs.2:70,000 and:profit ...
carned was Rs.7,200. The sales in the second half year registered an increase and
amounted to Rs.3,42,000. The profit earned was Rs.20, 700 in that half year, Assuming
no change in fixed costs, calculate; :
) Profit “Volume rdtio S B

b) The amount of profit when sales are Rs. 2,16,000 and

¢) The amount of sales required to earn a profit of Rs.36,000. [3+3+4)]

s “What doyou understand by‘Monopohstlc Compcution’?Explam “thie price-i%’f;éutput
“determination in case of monopolistic competition. _ ' [10] :

. OR
#2 7. «Enumerate:the various methods:of pricing: CBE +{10]




How is capital classified? Explain in detail various sources of mobiliship total capital
needed by an organization. : ' [10]

The initial cash outlay of a project is Rs.50,000 and it generates cash inflows of

Rs.20,000, Rs.15,000, Rs.25,000 and Rs.10,000 in four years. Using present value index
.nethod, appraise profitability of the proposed investment assuming 10% rate of discount,
R HETT i LEE THET S e I fT 10]

Explain various Accounting concepts arid Conventions which are widely accepted.[10]
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Current Ratio = 2.8 - _ '

- Acid — test Ratio = 1.5
Working capital Rs.1, 62,000
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“Find out***
a) Current assets
b) Current liabilities
#€) Liquiq%%ssets
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